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3. GUSH H YT G 1 § 18 % Fglashedid a9l I97 H&q1 19 TF 20 AWFIT T

e TaTRa 1 37 3 997 81

QUE @ 4 g7 GEqT 21 8 25 d% Al dG-IT0T (VSA) TP & 2 Al & J97 &

WUE T G Y9 GEIT 26 T 31 % TY-IRIT (SA) TFR & 3 3Pl & T3 3|

WUE g 4 Y97 G&IT 32 T 35 T ald-ItRIT (LA) IR & 5 37l & I3 8|

TS T I 9 &7 36 § 38 GId/THI0T Skl HTUTRA 4 3] & I3 8/ Halke

faseq 2 37l & T § fqar T Bl

8. Jv1-93 H Guy faeheq &l foar war 81 Fefy, @ve @ & 2 gvAl 4, @Ue T % 2 ¥l
4, @us g % 2 I3 H a9T @US T & 3 I 4 HIaieh faeheyq &1 Jaen foar
gl

9. STET STEYIF & TS FAT S| Al EvIs gt w = 22/7

10. FTFAX FT IYFIT Ffd 31

NS A

©us — 20x1=20
T HEAT 1 | 20 Tk Tgirehea T § AT Tl W9 1 31k 1 2

1. ko foF8 oM % Q51898 kor? —4x—7 % A1 1 0HSA 2 & 7 1
@ - b 2 © 2 @ -2

2. UH GHIHR HG H, Al =8 AU g, =—19 &, A d H AA & : 1
(@) 3 ® -4 © = @ 3

[y

3. fagsti (-1, 3) agn( )ﬁﬁaﬁmﬁ%@@v@wnw—%@%

03 03 0B 0l

4. Zlﬁsin(%:%%,FﬁsecGEIw‘rﬂW%: 1
2.2 3 1
(a) 3 (b) m (c) 3 (d) ﬁ
5. HCF (132,77) = : 1
(a) 11 (b) 77 (c) 22 (d) 44
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General Instructions :
Read the following instructions carefully and follow them :

1.

2.
3.

9.

10.

This question paper contains 38 questions. All questions are compulsory.
Question paper is divided into FIVE sections — SECTION A, B, C, D and E.

In section A, question number 1 to 18 are multiple choice questions (MCQs)
and question number 19 and 20 are Assertion — Reason based questions of
1 mark each.

In section B, question number 21 to 25 are very short answer (VSA) type
questions of 2 marks each.

In section C, question number 26 to 31 are short answer (SA) type questions
carrying 3 marks each.

In section D, question number 32 to 35 are long answer (LA) type questions
carrying 5 marks each.

In section E, question number 36 to 38 are case—based integrated units of
assessment questions carrying 4 marks each. Internal choice is provided in
2 marks question in each case study.

There is no overall choice. However, an internal choice has been provided in 2
questions in Section B, 2 questions in Section C, 2 questions in Section D and 3
questions in Section E.

Draw neat figures wherever required. Take m = 22/7 wherever required if not
Stated.

Use of calculators is NOT allowed.

SECTION - A 20x1=20

Q. No. 1 to 20 are Multiple Choice Questions of 1 mark each.

1.

For what value of , the product of zeroes of the polynomial kx> —4x—7is2? 1

1 7 7 2
@ -1 b) —5 © 5 d) -5
Inan AP, ifa=8 and a,,=-19, then value of d'is : 1
11 27
@ 3 0 -5  © - (@ -3
The mid-point of the line segment joining the points (-1, 3) and [8, %) is : 1
7 3 79 9 3 79
@ G3 ©G) 0G4 oGy
Ifsin 0= %, then sec 0 is equal to : 1
242 3 1
a) —— b) — c) 3 d —
@ =3 (b) N5 (c) (d) NE
HCF (132, 77) is : 1
(a) 11 (b)y 77 (c) 22 (d) 44
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6. Afe fgama TR 4x2—5x+k=0%ﬁ§{wﬁzﬁaﬁtw§,aﬁk‘cﬂm%: 1

@ > ® 2 © - @ -3

7. e uk @A & Sfiad I TReRAT p 7, A 36 gRA sl TTRieRar B ¢ 1
(@ l+p (b) -p (© p-1 (d 1-p

8. fergat (2,-3)qun(-2,3)% = HI gl 7 - 1
(@ NI3THE (b) 5TFE (o) I13V2FFE (d) 105%E

9. 0% fpg AH & fIT, sin?0+sinO+cos’0 HF AR 2 8 ? 1
(a) 45° (b) 0° () 90° (d) 30°

10. 52 UHi i =S THR § el g a1 FI T H H ATGeSAT Th Il R
1| f9RTel T Ut % Uk Tl U1 ol S Tt Ul g sl JiiiehdT | ¢ 1

1 2 1 1

@ 13 ®) 3 © = d) ¢

11. Ife = ffsa == x 7 9 sgafeua gifcahl sfeel = @ g9F 9 |
TawfSra st &, a1 x T 9T hel ST © 1
(a) WA (b) HIETH (c) =EAh (d) ufEr

12. ﬁw%cmmﬁrﬁéww%: 1
(a) %cu cm  (b) %cu cm (c) %cu cm  (d) 154 cucm

13. fopeft sie =1 Hiex QT HIeAh SHRT: 21 9 23 21 39 S I SEAh ® 1
(a) 27 (b) 22 ) 17 d) 23

14. T Aagag o <kl SHars qon BSAn E: 24 cm @1 7 cm @1 39 WF Al
forier 3= 2 - 1
(a) 24cm (b) 31cm (c) 26cm (d) 25cm

15. e fgamd sg9a (o—1)x* +oxc+1 %1 T I -3 2, A1 o AF 2 1
@) -2 b 2 © 3 @ 3

16. T I o A8 I @a% 6 cm @l I 39 U™ &1 T A (— 4, 0) W &, d@
THR! gEU B, S -3 W E, 2 1

(@) (0,2) (b) (6,0) () (2,0) (d) (4,0)
17. k1 a8 o fomes fore Wash oefiertor I 5x+2y—7=0 QA 2x+ky+1=0

1 IS & T B, B - 1
4 5 5
@ 5 b) < © 7 d 3
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6. If the roots of quadratic equation 4x*>—5x+k=0are real and equal, then

value of kis : 1
5 25 5 25
@ 7 ®) ¢ © -7 d) —1¢
7. If probability of winning a game is p, then probability of losing the game is: 1
(@) I+p (b) —p () p-1 (d 1-p
8. The distance between the points (2, —3) and (-2, 3) is : 1
(a) 2413 units (b) Sunits  (c) 13+2 units (d) 10 units
9. For what value of 0,sin?0+sin0+cos’0 is equal to 2 ? 1
(a) 45° (b) 0° (c) 90° (d) 30°
10. A card is drawn from a well shuffled deck of 52 playing cards. The
probability that drawn card is a red queen, is : 1
1 2 1 1
@ 13 ®) 3 © = d) 5¢
11. If a certain variable x divides a statistical data arranged in order into two
equal parts; then the value of x is called the : 1
(a) mean (b) median (c) mode (d) range
of the data.
12. The radius of a sphere is %cm. The volume of the sphere is : 1
(a) %cu cm  (b) %cu cm (c¢) %cu cm (d) 154cucm
13. The mean and median of a statistical data are 21 and 23 respectively. The
mode of the data is : 1
(a) 27 (b) 22 (c) 17 (d) 23
14. The height and radius of a right circular cone are 24 cm and 7 cm
respectively. The slant height of the cone is : 1
(a) 24cm (b) 31cm (c) 26cm (d) 25cm
15. If one of the zeroes of the quadratic polynomial (o.—1)x? +ax+1 is —3, then
the value of a is : 1
2 2 4 3
@ -3 b) 3 © 3 d 7
16. The diameter of a circle is of length 6 cm. If one end of the diameter is
(=4, 0), the other end on x-axis is at : 1

(@) (0,2) (b) (6,0) (© (2,0 (d) (4,0)
17. The value of k for which the pair of linear equations 5x+2y—-7=0 and

2x+ky+1=0 don’t have a solution, is : 1
4 5 5
@ 5 (0) 5 © 3 @ 3

C3ABD/1 /31 P.T.O.
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18. T U T 91 3BT U] Ueh fgoh o T <Al T¥rehan @ 1
@) = ® 5 © ¢ @ 2
i -

Y TEAT 19 AAT 20 TAF | Tk ANMHAT (A) * Uved Tk qeh (R) fam )

e 4 @ v faeew g

(a) i, AMMHAA (A) q1 Toh (R) T 2| @eh (R), AR (A) il qoT =men
T &l

(b) I, ANTRYT (A) AT qh (R) T 21 T (R), AMHA (A) i =mean T8
T 2l

(c) AUFIT (A) HF & g T (R) 16 2|

(d) SATHYT (A) 37 B eItk o (R) A 2

19. A

(>

B
ATHHAT (A) : IlE g O 911 g W T oal folg P & T%1 WY PA doM0
PB @i+ 7 ¥, a1 =qySl OAPB U b =gy 2|

& (R) : T <ThiF TS % T I FHH B B 1
20. ATHHRAT (A): TGIE p(x)=x*>—2x—3 % I —1 qA1 3 E|
s (R) : TgIG p(x)=x>—2x—3 H AH x-3& =l (-1, 0) 7T (3, 0)
W A 2 1
o us - g

Y HEAT 21 | 25 T 3Mfd TY-3IW T1A 997 §, R aedes 2 3k 1 2|
21. A ABC &I 451 BC W T foig D 39 Y%K 8 6 LADC = ZBAC. &xIisT T

AC? =BCxDC. A 2
B C
D
C3ABD/1/31
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18. Two dice are rolled together. The probability of getting a doublet is : 1
2 1 1 5
@ 3¢ b) 3¢ © ¢ d) &

Directions :

In Q. No. 19 and 20, a statement of Assertion (A) is followed by a statement

of Reason (R). Select the correct option from the following options :

(a) Both, Assertion (A) and Reason (R) are true. Reason (R) explains
Assertion (A) completely.

(b) Both, Assertion (A) and Reason (R) are true. Reason (R) does not explain
Assertion (A).

(c) Assertion (A) is true but Reason (R) is false.

(d) Assertion (A) is false but Reason (R) is true.

19. A

B

Assertion (A) : If the PA and PB are tangents drawn to a circle with
centre O from an external point P, then the quadrilateral
OAPB is a cyclic quadrilateral.

Reason (R) : In a cyclic quadrilateral, opposite angles are equal. 1

20. Assertion (A): Zeroes of a polynomial p(x)=x*-2x—3are—1 and 3.

Reason (R) : The graph of polynomial p(x)=x*-2x-3 intersects
x-axis at (—1, 0) and (3, 0). 1

SECTION - B
Q. No. 21 to 25 are Very Short Answer Questions of 2 marks each.
21. D is a point on the side BC of AABC such that ZADC = ZBAC. Show that

AC? =BCxDC. A 2

C3ABD/1 /31 P.T.O.
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22. (A) fTr=fafea Was oo g @@t x, y & fou, diemfcda fafa @ 5@

SHiferg
x+2y=9qaqy —2x=2 2
3ATAT
(B) Sta Hfw foh w1 fog (-4, 3), Wask wfisroli x +y + 1 =0 @M
x—y=1gm f&fia et w feg 2l 2
23. (A) Tag AR % 6-45 v smfom e 2, fon @ T 5 o sufam
& B 2
AT
(B) T R 11 x 19 x 23+ 3 x 11 Tk AT BT 741 2| 2

24. 9Ifc A =30° ?I?JTB=45°%,?I"TsinAcosB+cosAsinBWﬂﬂ3l’lﬁ'°ﬁﬁlQl 2
25. T 91 § 4 @, 5 e a1 FS didd T A G 2| Al A H  Agesa T
el i, Frrert 61 s £ %, 96§ § A w e i
SRR RERINIGICAIE I 2
@ug - T
9 HEAT 26 | 31 T G-I ATl T ¢ NH Tedieh 3 37eh &1 2|

26. @ 3™ Hfedl A 20 e qon 25 fife % 3qua w e serd) 31 afe
I8 YAl 9K Tk HIY QUG &+ 12.00 9 A Sl 2 dl 38k o I8 T
Tk 1Y Tohdd o9 o™ sarft ? 3

27. o A KU H TS R0, SIS R0 T 18° 31feek 7| AT v WY A@
S 3
28. foigal (— 2, 2) @1 (7, — 4) HI AW el [@REvE &I A GHE 9RT H S1ed
et fergatt o g T ik 3
29. (A) & TE pfa W, @ Gehgw Fai H A
freamd OA =1 cm @91 OQ = 6 cm 2l
g g9 H S CD B I H Q W 0
TS It 31 A PA = 16 cm @1 OP

C D
Q
=20 cm 8, d a1 CD < a=E J1d \_/

EAIE 3

C3ABD/1 /31
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22. (A) Solve the following pair of linear equations for x and y algebraically :

x+2y=9andy—-2x=2 2
OR
(B) Check whether the point (— 4, 3) lies on both the lines represented by
the linear equationsx +y+1=0and x—y=1. 2
23. (A) Prove that 6-4+/5 is an irrational number, given that J5 s an
irrational number. 2
OR
(B) Show that 11 x 19 x 23 +3 x 11 is not a prime number. 2
24. Evaluate : sin A cos B + cos A sin B; if A =30° and B =45°. 2

25. A bag contains 4 red, 5 white and some yellow balls. If probability of

%, then find the probability of drawing a

yellow ball at random. 2
SECTION - C

drawing a red ball at random is

Q. No. 26 to 31 are Short Answer Questions of 3 marks each.

26. Two alarm clocks ring their alarms at regular intervals of 20 minutes and
25 minutes respectively. If they first beep together at 12 noon, at what time
will they beep again together next time ? 3

27. The greater of two supplementary angles exceeds the smaller by 18°. Find
measures of these two angles. 3

28. Find the co-ordinates of the points of trisection of the line segment joining

the points (-2, 2) and (7, — 4). 3
29. (A) In two concentric circles, the radii
are OA =r cm and OQ = 6 cm, as A

shown in the figure. Chord CD of
larger circle is a tangent to smaller

circle at Q. PA is tangent to larger O / P
circle. If PA = 16 cm and OP = 20

C Q D
cm, find the length CD. \_/ 3

C3ABD/1 /31 P.T.O.
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(B) @ T MFA H, O g I IH W TH 1 /
fiig T& & ot Y@ TP @om TQ Wieht 3 ’)’
21 fog Hifsw B £PTQ =2 ZOPQ 0

30. (A) U 3 Tk oo o AR T & [ofFeh gl fohid W 38T B & aned
el 81 39 3™ & Pl Ha15 20 cm & T S H1 A 14 cm 7l 39
3 1 ¥ &% [ i) 3
Jrran
(B) S 1 U fIATE SRR 3TTRR <l 8 T8R! 3TN T S0 33 LM
% SRR 1 2| e 1 AT sa@ 10 cm 8 @91 S 14 cm 21 39
et <t arfiar sma i) (o= 3.14 i) 3
31. fag fifvw - (cotG—cosecB)z—l_Cose 3

" 14cos6

Qg - ¥
9 WEAT 32 W 35 Tk qre -3 a1t Uy &, T a5 3tk @ )
32. (A) g Foreht Fre <t ok ST % TEIGR o 1 yedt W fie-firm fogat
T Yfdeade *1 & fou ws W@ di=h o, @ fag fifve 6 3 = @
yeITd Ueh € SfaTa ° fawifra gt 2 5
HAAAT
(B) T Brqst ABC i qo¢ AB
A

3 AC qn Hifedht AD Teh
3= BYs PQR it sl
PQ 3R PR qer Atfedsn PM

¥ s FuEE ¥ e B D C Q M

% AABC ~ APQR 2| 5
33. HHIR I 27, 24, 21,..... % fohad TG 1 T 105 & ? IH A BT HH-AT

wCYAR ? 5
34. (A) T GEAA 4 W @ AR A 9 W g8 W IR 40 #fid 6= @ o
S T N IAG 60° F 30° 7 AT HHER K Sang q°m AT H S

BT ol A8 31 hierg) (/3= 1.73 =fifom) 5

C3ABD/1/31
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S
OR
(B) In given figure, two tangents
PT and QT are drawn to a
circle with centre O from an

external point T. Prove that
ZPTQ =2 ZOPQ. 3

30. (A) A solid is in the form of a cylinder with hemi—spherical ends of same
radii. The total height of the solid is 20 cm and the diameter of the
cylinder is 14 cm. Find the surface area of the solid. 3
OR
(B) A juice glass is cylindrical in shape with hemi—spherical raised up
portion at the bottom. The inner diameter of glass is 10 cm and its

height is 14 cm. Find the capacity of the glass. (use m = 3.14) 3
31. Prove that: (cot®—cosec )’ = 1=cos® . 3
1+cosO
SECTION -D

Q. No. 32 to 35 are Long Answer Questions of 5 marks each.

32. (A) Ifaline is drawn parallel to one side of a triangle to intersect the other

two sides in distinct points, then prove that other two sides are divided
in the same ratio. 5

OR p

(B) Sides AB and BC and
median AD of a AABC are
respectively proportional to
sides PQ and PR and
median PM of APQR. Show B b € Q M K

that AABC ~ APQR. 5

33. How many terms of the A.P. 27, 24, 21, ....... must be taken so that their
sum is 105 ? Which term of the A.P. is zero ? 5

34. (A) The shadow of a tower standing on a level ground is found to be 40 m
longer when the Sun’s altitude is 30° than when it was 60°. Find the

height of the tower and the length of original shadow. (use V3= 1.73) 5

C3ABD/1/31 Page 11 P.T.O.
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(B) TH Sgae Wad % RieX @ U 8 W, F9 "ed o R qu1 UG *
HETHA HI0T S 30° qAT 45° 2| TEHNAT HoT shl SeTs qe QM1 Wl

o ot 1 gt T Al (/3 = 1.73 i) 5
35. B A1 14 cm a1t 99 I T el g9 % hg W 90° FH R0 FAANT FAl 2
T Y JEve a1 < JTETE % &FhRA Aq HiT| 5
Tug - g

9 TEAT 36 | 38 Tk ThIUT TG U9 2, N6 ueeh 4 31k &1 2|

36. F 1 B0 3R 38T WA o U, WIEAT UHT o S ol I o1 ST hidl
7, Sl JATRR SRR | Fd 8 3R T T & 7 ur fegsd 2
ﬁﬁmﬁaﬁaﬁmwmméﬁaﬁmﬁ%

(R>r1) g Pt A o AT A4
aaﬁmmaﬂééawm?ﬁmméﬁﬂnonsqm%wﬁ
gl % o= I gl 14 m 2|
SUh STMeRR] & AR W 7= 9341 & 3 i
(i) YO & RaA¥ r § U fgoma ofieor gra Hifu 1
(ii) had r ¥ T TgEma Trfieor fofay)
(iii) (a) T r 3@ HfST qen gra art foan T eewa e Hifs)

areran

(b) e R ma hifsre qen wvra ot fean man eswa ma Hifs)
37. ol 1 dd A g
T W 2 I 3T N F §§,'.:.
Tehd Tt 37T 39kl vl mm d

a1l

N

[

w .

C3ABD/1/31 Page 12
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(B) The angles of depression of the top and the bottom of an 8 m tall
building from the top of a multi—storeyed building are 30° and 45°
respectively. Find the height of the multi—storeyed building and the

distance between the two buildings. (use V3= 1.73) 5
35. A chord of a circle of radius 14 cm subtends an angle of 90° at the centre.
Find the area of the corresponding minor and major segments of the circle. 5
SECTION - E

Q. No. 36 to 38 are Case-Based Questions of 4 marks each.

36. To keep the lawn green and cool, Sadhna uses water sprinklers which rotate
in circular shape and cover a particular area.

The diagram below shows the circular areas covered by two sprinklers :

(R>T)

Two circles touch externally. The sum of their areas is 130 © sq m and the
distance between their centres is 14 m.
Based on above information, answer the following questions :

(i) Obtain a quadratic equation involving R and r from above. 1
(i1) Write a quadratic equation involving only r.
(ii1)) (a) Find the radius r and the corresponding area irrigated. 2
OR
(b) Find the radius R and the corresponding area irrigated. 2

37. Gurpreet is very fond of doing \
research on plants. She collected some §
leaves from different plants and

e % = Y
measured their lengths in mm. ﬁ “ % . * $
w f
oy

C3ABD/1/31 Page 13 P.T.O.
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TH 3Aiehe e arfetsrt | feu 7o 2 -
@arg (mm #): | 70-80 | 80-90 | 90-100 |100-110|110-120 |120-130]|130-140

ot Y T 3 5 9 12 5 4 2
SUIH STHeRR] & SATUR W 7= g1 & 3 G
(i) ATehgl =1 ATesh ot fefau | 1
(i) Tera™ o=t <t A& 10 cm AT 39T SAfIE 7 7 1
(iii) (a) THSI HT HIEF T I 2
Jrra
(b) TS 1 Tgs A [TRIT TAT TgA 1 hITT 2

38. o ™ fod § U gARR UV I TH dN o HIY GAR T ASH g1 fewmn
T 71 eI mn eT@ g9u i g O Il T 99 % &9 H g9l &, AP IR
AQ FHST: P Al Q W I ot Tt @MU §| AfG AP = 30 cm @1 LPAQ = 60°

2
A

O A 4
\\‘\ > > ,'-5'::!4 |

STIH SMeRR] & AR W 7= 1 & 3 G -

(i) PQ =l T3 H@ A 1
(i) m ZPOQ Fma i) 1
(iii) (a) OA =i TaTE FTa IR 2
PR
(b) T i B ma Ffvw) 2
C3ABD/1 /31
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The data obtained is represented in the following table :
Length (in mm) : 70-80 | 80-90 | 90-100 [100-110|110-120|120-130|130-140
Number of leaves : 3 5 9 12 5 4 2

Based on the above information, answer the following questions :

(1)  Write the median class of the data. 1

(1) How many leaves are of length equal to or more than 10 cm ? 1

(i1i1)) (a) Find median of the data. 2
OR

(b) Write the modal class and find the mode of the data. 2

38. The picture given below shows a circular mirror hanging on the wall with a
cord. The diagram represents the mirror as a circle with centre O. AP and
AQ are tangents to the circle at P and Q respectively such that AP = 30 cm
and ZPAQ = 60°. A

Based on the above information; answer the following questions :

(1) Find the length PQ. 1
11) Find m ZPOQ.
(i) Find m £LPOQ 1
ii1) (a) Find the length OA. 2
(iii) (a) g
OR
(b) Find the radius of the mirror. 2

C3ABD/1/31 Page 15
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